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ﬁIQU._.Nﬂ. 9 geci-? Review 3. Find a and b, Show all work,

1 Fird 3 and 1, Express answers in reduced radical form,
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4. The perimeter of the square is 60mm. Find k, m and n.
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2. The length ofa diagonal of a square is 10V 2 inches. Find the length of the sides and the ?\
perimeter of the square. Label the picture, Show all work. o
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6. What is a Pythagorean Triple? Include an example.
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How can you determine if a set of numbers is g Pythagorean Triple?
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For # 7-12, determine whether the given sets of numbers represent a Pythagorean

Triple. Justify your answer,
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13. "Three right triangles are joined to form a triangular pyramid.

a} Redraw and labet the friangles separately.
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b} Find the length ow AD, DC, and \.m Round your answer to the nearest tenth,

how all work, T e ke o
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14. What is the ratic of the sides of a 45-45-90 triangle?
Uraw and label a picture, include all angle measures and side ratios,

Ratio : X ”Q«M \N\é\nw
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15, What is the ratio of the sides of a 30-60-90 triangle?
Draw and label a picture, include all angle measures and side ratios.

Ratia : x&_\\w)ﬁmu Py 4

16, Clossify the triangle with side lengths of 5, 6, 10 by sides and angles.
Justify your answer,
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17. Classify the triangle with side lengths of 7, 10, {1 by sides and angles.

Justify yaur answer. 2
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el o =

imv ﬂ.;w :NUT?UU

Classified by Sides: Seakene
Classified by Angles: b;ﬁ..&ﬂw L
j2b [ {49100
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18. Classify the triangle with side lengths of 14, 74/2, 742 by sides and angles.

Justify your answer. ‘ s q
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Classified by Sides: | 2050€ €S S N w
Classified by Angles: N M.S\al / \Jﬁ hu h?@bu | \ﬁw
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For # 19-22, Determine whether the given side lengths will create a triangle, If they
ereate a triongle, classify the friangle by its angles. Justify your answer. Show all work.
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FEq = 289

19. 6,12, 6 bto=l & 20. 17,8, 15
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Right/Acute/Obtuse
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219138  £+94>|3 22, 12,14,16 [ o 2o 24, ABCD and EFGH are squares.
EFGH was created by connecting the midpoints of the sides of ABCD.
Triangle? Aes/MNo 4 ? P
a) Redraw the squares separately. Label all side lengths and angle measures.
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o9 > 145 256 408 HD b) What is the side length of EFGH?
N B
Side Length =z A.Q\,,..“ o
23. A flag is aftached o the top of a 30-foot pole similar to the one shown below. o6 Hengeren N
Three wires are attached to the pole 16 feet above the ground and are anchored to 10 i
the ground 12 feet from the base. How many total feet of wire are needed to H &
secure the flag pole? 3 1D
Length of Each Wire =& ¢) What is the perimeter of EFGH? ¢
Total Length of Wire = mwn )] % i Perimetereres = © o i g
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Chapter 9 sec 4-6 Review (Part 1) ~

For #1-6, find the measure of the angle to the nearest degree.
L cos X =09396 2. tan ¥ = 37320  3.sinZ=0. 5735 N
O (ALY Y= koo (170 7oz (O8735)
X222 NEb
4 ten A= 02679 5. cosB =0, mw#m ‘
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. Pierre is standing at horizontat mwo:_& leve! with the base of i.n m_j“a_ ._.n_&E. in Paris,
The angle formed by the ground and his view of thz top of the tower is 55.1°. The
height of the Eiffel Tower is 1063 ft. What is Pierre’s distance from the base of the
Eiffel Tower? Draw and label the picture, Round your answer fo the nearest foot,
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8. Anairplane is 0.5 miles abeve ;m ocean when it starts to ascend at @ constant angle
of 5° for the next 50 ground miles. Approximately how far above the ocean is the

plane when it finishes ascending? Draw and label the picture. Round your answer to
the nearest tenth of a mile.

[ e

Height = T i QLL\QL. 5@ A1
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8. Garrett is fooking up at the flag af the top of the flag pole. The angle of elevation from
Barrett to the flag is 52°. The height of the flag pole is 35 6", What is the distance
from Garrett to the flag? Draw and label the _u_n.:._um. Round your ahswer to the nearest

?3. '
= 5 6" . 35.%2

Umu._.m:nmu mmw% HH
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10. Mackenzie is flying a kite when it gets stuck up in a tree. She is 20 yards from the
tree and the length of the string when she pulls it tight is 35 yards. What is the angle
of elevation of the kite? Draw and label the picture. Round your answer to the negrest

degree. e
- mm\ S
Angle of Elevation= == '
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1. The Otympic ski jump in Sochi is 100m long with a vertical drop of 62m, Find the angle
of depression of the ski jump. Draw and label the picture. Round your answer o the
:mn.anﬂ ammwmm

Arngle of Depression= _¢0 «,
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12. Given ALMN with LM = 3, MN = 4, LN = 5, Find the ratios for the sine, cosine, and
tangent for angle N.

. =,
sinN= L=
e =5
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cos N = - A
< N
> o
tan N = ‘w
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13. The Pike's Peak Cag Railway travels 8.9 mifes up the mountain at an angle of 9.1°. What

is the change in elevation? Draw and label the picture, Round your answer to the
nearest tenth of g mile.

Change in Elevation = A4 A

14, If m£B = 25° and BA = 10 ¢m, find the measure of AC. Label the picture. Show alt
work, Round your answer to the nearest tenth.
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15. Ricardo is driving a truck that is pulling a trailer with a boat on it. On the road in front
of him he sees a tunnel. He needs ta calculate the height of the tunnel to ensure that
his boet will fit through it. His truck is currently 250 feet away from the tunnel when
the top of the tunnel is at an angle of efevation of 3.9°, Draw and label the picturs.
Show all work. .

a) How tall is the tunnel? Round the answer t the nearest tenth of a feot.
Height of the Tunnef = ln—uhmﬁ
- . _ Pt - 7. .
S tan 39 K08
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b) If the height of his boat ¢n the trailer is 1&'5", wilf it fit in the tunnel without any

anzﬁmm@o
Reasoning: :_b, Mz A m:w“

16. From the fop of a 120 foot tall fower, an air traffic contralier observes an airplane
oh the runway at an angle of depression of 19°. How far from the base of the tower
is the airplane? Show all wark. Round yeur answer to the nearest tenth,

Distance = [Wmmﬂ,lﬂ.- ,ﬁw\
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Chapter 9 sec 4-6 Review (Part 2)

17. Buring the Fourth of July celebration, the fireworks are set off 300 feet west of
where you are sitting. You look up gt the fireworks at an angle of 63°, Draw and label
the picture. Show all work.

a) Te take a clear picture of the firaworks, you need to find the distance from you to
the fireworks, Round your answer to the nearest tenth of o ?3
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b} Find the approximate altitude of the fireworks when you Hrn the picture. Round
your answer to the nearest tenth of a foat.

) 5 =l b=
Altiude =SB0 Zea tanbhed B0

c} During the Grand Finale, some of the fireworks are 100 feet higher than the rest of
them. What is the new angle of elevation? Draw and label! the picture. Round your

answer o the nearest degree. -
bin® ton K= bR
Angle of Elevation = : =50
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18. Find the Trigenometric Ratios for the indicated angles.

sin x = .Uuw\w siny = MQN\“M;V
cos X = .%QJN@ W cosy= nV\t )
fan x = l < tany = \DJM\M\

19. What angle does m make with the x-axis? Shew all wark. Round your answer to
the nearest degree. TETF m

Angle = \M\O
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20. Find the angle of elevation of the sun when a 12,5 meter tolf telephone pole casts
an 18 meter long shadow.

Angle of Elevation = % M \.%M.m S
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21. If 60 = 8 £+, and 6 = 13 4, find m<6. Label the picture. Show all work. Round
your answer to the nearest degree.

msG = Uﬂmwn.
84u \vﬂu ..iml

For #22-24, find the value of each ratio to the nearest hundredth,

e Heetlic

22, sin i4° 23, cos5i° 24, tan5°
£- 419 0.6 0.R 4
EES _ Mi& T

25. Aroofer props a ladder against o wall 5o that the top of the ladder reathes a 30 foot
roof that needs repair. If the angle of elevation from the bottom of the ladder to the
roof is 557, how far is the ladder from the bate of the wall? Draw and lebel *he picture.
Show all wark. Round your answer ta the nearest foot.

J
Distance = 0\: ,m\_m\ ]
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For #26-28, find the missing value. Round side lengths to the nearest tenth and angle
measures to the nearest degree,

27. y= h.m,,m Mo

26. x= & “m 28 z= %Mn,mv\

X

29. A person whase eyes are 5 feet above the ground is standing ont the runway of an
airport 100 feet from the contral tower. They observe an gir traffic controller at
the window of the 132 foot tewer, What is the angle of efevation? Show all work.
Round your answer to the nearest degree.

Angle of Elevation = Ul w °
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Chapter 9 sec 4-6 Review (Part 3)
For #3032, find the measure of each angle to the nearest degree.
30. tan A = 20035 31 cosB=07980 32, sinC= 07650 -
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33. The Leaning Tower of Pisa leans about 5.5° fram vertical. How
far from the base of the tower will an object dropped from
the tower land? Show alf work. Round to the nearest foot,

Distance = H mmw T
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For #34-37, draw and label the picture. Show all wark.

2, 35. Find tan B when cos & - m.w o
edl 2k
- "

36. Find tan € when sin € = @l,m 37. Find cos D whensin b = eﬁ

34, Find sin A when tan A = Mh Y
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38, The angle of elevation to an sirplane viewed from the controf tower at an airport is 7°,
The tower is 200 feet high and the pilot reports that the altitude is 5200 feet, How
far away from the control tower is the airplane? Draw and label the picture. Show all
work, Round your answer to the nearest foot,
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3%. Carelyn WaFTs To determine The height o Sn a flag pole. Her eye level is 5.5 feet from
the ground and she stands 36 feet from the flagpole, If the angle of elevation is 25°,
what is the height of the flagpole to the nearest tenth of a foot? Show all wark,

Height =A2 K 30 4 na<e W s
- o m
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40. Find the height of the building to the nearest tenth of a foot. Show all wark,
it
Height = k_mb e UT..»
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41 All but two of the pyramids built by the antient Egystians have faces inclined at 52°
angles, Suppose ar archaeologist discovers the ruins of o pyramid. Mest of the pyra-
mid has eroded, but she is able to determine that the length of a side of the square
hase is 82 m. How tall was the pyramid? Show afl work. Round o the nearest meter.

. -
Height = m\m ¥y

Ky dmnSeee A 52°
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42. A 25 foof kadder is leaned against a wall maldng a 72° angfe with the greund. How high
up on the wall does the ladder reach? Show all work. Round your answar +~ +e~ vearest

Height = J 2. §4T B e ﬁ,.\
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43. A ship is sailing toward a small island 800 miles away. If the ship is 2° 6ff course,
by how many miles will it miss the island? Show all work Reund your answer to the
nearest rile, 6

Number of miles =
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44. A cable from the top of a 200 foot telephone tower makes a 50° angle with the ground. How long is
the cable? Show alt work,
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45. The angle of elevation of a hot air balloen, climbing vertically, changes from 25°
at 10:00 am to 60° at 10:02 am. The point of observation of the angle of eleva-
tion is situated 300 meters away from the take of f point. What [s the upward
speed, assumed constant, of the balloon? Give the answer in meters per second,
Show all wark. Round your answer to the nearest tenth, .

Upward speed = -3l gmnu
o
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